Série d’exercices
Equations et inéquations

Exercice 1

Exercice 3

Résoudre les équations suivantes :

3x+5=0 .1
x+6=11 .2
3x+4=5 3
=2x+T7=3 4
6x—-5=12 5
~Ix+5=13 .6
3x-8=12-7x 7
3
—x=4 .8
7
A2x+9=39-8x .9
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A2x+2J5 =343 .14
5(2x=3)=7=3(3-x) .15

Résoudre les inéquations suivantes :

Tx—5<3
2x-52-33
72x=3)-7 <3(\3-x)
9x—13<11(3x—4)
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Exercice 4

Exercice 2

Résoudre les équations suivantes :

Ax+5)X2-x)=0 .1
(Bx+D(Ex-3)=0 .2
X 4+2x=0 3

X =-9x=0 4

Ox' =5x=0 .5
Xx+D)(x+2)=0 .6
(2x=3/2)’ =0 7
X —6x4+9=0 .8
X +4x=-4 9

X =242x+2=0 .10
AxT +4x=x"—4x .11
X =5x=0 .12

X —4x=0.13

Résoudre :

=3x+5=2x~-10
Sx=-3=3x+1
Sx+5=10-2x
Sx-7<3x+1
Axt=3x=0
Jd6x*-25=0
3x-7 x-3 _13x+8
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Sx+7=3x+2
~3x+4<-8x-4

3x—(7-x)=9.
Ix+3x=0.
<0 .

4 7

3x+2 x-5

.25x° —10x+1=0 .
X +14x+49=0.

"
-

Ax+1) =x"+29 .

(6x-1)" =(4x-7)(9x+8) .
x+3S2x+7..
(x+3)(5x—2)=(x+3)(3x-8)..
X =T

A =2x—1
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